=
Al = Ol &t Al Al
e =3 13 L3N SC2532 ~ SST=5ea
S=C 2532
S22 29
?: Eetald Al2= 2 QM
SA-EFH - SA(SAH) - MREAY - BES &hoh BlusZ
S=t2ss 2 624,500 638,426 13,926
SExEEstala 29 598,404 612,630 A 14,226
Fo32 AId=2 22 242,546 251,548 /9,002
A=A 2 242,546 251,548 /9,002
201 LEt=gH| 181,171 181,223 VANGYa
01 AtR2telH] 548 600 A52
OF A2 ItatE A (0laHE )
&3 448,000 448 500 YANGY
307 2120l & 55,250 64,200 /8,950
05 QIZtRE = 55,250 64,200 A8,950
OFARE2RISA(OAEY)
Z& 52,742,000 52,742 60,000 AT,258
O2eHMelANEFX A2 (0 AEZ)
Z& 2,508,000 2,508 4,200 AN1,692
& 2l 61,721 66,945 N5,224
A9y 29 57,241 62,185 N4,944
201 et 31,830 32,180 A 350
01 AtR2teld] 1,870 2,000 A130
OZ3d& 22348 FY(HaE2)
23 1,870,000 1,870 2,000 A 130
02 3224l 29,960 30,180 A 220
O#ISAEH KX (HAEZ)
3 & 3,040,000& 3,040 3,260 A220
301 Let2H= 7,325 8,825 A 1,500
09 BA2RRIENS 5,165 6,665 A 1,500
O3 Fze|(HaE2) 5,165 6,665 A 1,500
=S4 23 1,140,000& 1,140 2,640 A 1,500
401 AIEHIZ 20U 4,700 5,000 A 300
01 Al£Hl 4,700 5,000 A 300
OUsed 2UIIAH 2x=(0&E2)
23 4,700,000 4,700 5,000 A300
405 XhakFH SHI 13,386 16,180 N2,794
01 MR ESF=H 13,386 16,180 N2, 794
Odte)] dxi(oarzEz) Z3 2,880,000 2,880 3,200 A 320
OHILI2 Z2 M (ol atE 2
&3 3,600,000 3,600 4,000 A400
OgF& AXH(HaEZ) 23 1,782,000& 1,782 1,980 A 198
ODMETIO: 0lSIIR(0AtEZ)
ZE 5,124,000 5,124 7,000 AN1,876
ol 8201 24 4,480 4,760 A 280
201 B2 1,440 1,560 2120
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